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AW–322

B.A. Part–I (Semester–II) Examination
(Optional Subjects)

ECONOMICS
(Economy of Maharashtra)

Time : Three Hours] [Maximum Marks : 80
Note :— (1) All questions are compulsory.

(2) All questions carry equal marks.

1. Choose the correct option :

(1) Maharashtra State was established on ________.

(a) 1st May, 1960 (b) 1st May, 1961

(c) 1st Nov., 1956 (d) 29th Dec., 1953 2

(2) The State of Maharashtra has seaboard of ______ k.m.

(a) 800 (b) 720

(c) 750 (d) 820 2

(3) The total area of the Maharashtra State is _______ Sq. k.m.

(a) 3,07,713 (b) 3,70,762

(c) 3,76,702 (d) 3,06,762 2

(4) Which one of the following districts is the largest in its area ?

(a) Mumbai city (b) Ahemadnagar

(c) Nagpur (d) Raigarh 2

(5) ________ is the sub-capital of Maharashtra.

(a) Mumbai (b) Nagpur

(c) Pune (d) Aurangabad 2

(6) ________ is the highest peak in the Sahyadri Ranges.

(a) Mahabaleshwar (b) Matheran

(c) Kalsubai (d) Trambakeshwar 2

(7) _________ is the longest river in Maharashta.

(a) Godavari (b) Bhima

(c) Krushna (d) Tapi 2

(8) Which one of the following districts is the smallest in its area ?

(a) Mumbai City (b) Ahemadnagar

(c) Bhandara (d) Amravati 2
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2. Explain the kinds and causes of migration of population in the State of Maharashtra. 16

OR

Explain the causes and effects of Urbanization in Maharashtra. 16

3. Discuss the causes of Low Productivity of Maharashtrian Agriculture. Suggest the remedies of
improving the productivity of agriculture. 16

OR

Explain the success and failure of Green Revolution in Maharashtra. 16

4. Write short answers :

(A) Explain the main features of the Industrial Development in Maharashtra.  4

(B) Explain the problems of Railway Transport in Maharashtra. 4

(C) Explain the importance of Small Scale Industries. 4

(D) Discuss the problems of Agro based industries in the State of Maharashtra. 4

OR

(E) State the importance of Small Scale Industries in the State Economy. 4

(F) Explain the problems of Water Transportation. 4

(G) Explain the importance of Agro based Industries. 4

(H) Write down the problems of Air Transportation. 4

5. Write short answers :

(A) Explain the causes of Farmers' suicides in Vidarbha Region. 4

(B) Write short notes on 'Thermal Power Project' in Vidarbha. 4

(C) Explain the main Tourist Places in Vidarbha. 4

(D) Explain the information of Minerals in Vidarbha. 4

OR

(E) Give the suggestions to solve the problem of Farmers' Suicides in Vidarbha. 4

(F) Explain the advantages of Tourism. 4

(G) Explain the resources of Irrigation in Vidarbha. 4

(H) Explain the Historical Background of the Vidarbha Region. 4
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B.A. Part–I (Semester–II) Examination
(Optional Subjects)

ECONOMICS
(Economy of Maharashtra)

Time : Three Hours] [Maximum Marks : 80

¼ejkBh ek/;e½
lwpuk :— (1) loZ iz'u lksMfo.ks vko';d vkgsr-

(2) loZ iz'ukauk leku xq.k vkgsr-
1. ;ksX; i;kZ; fuoMk %

(1) egkjk"Vª jkT;kph fufeZrh ___________ jksth >kyh-
¼v½ 1 es 1960 ¼c½ 1 es 1961

¼d½ 1 uksOgsaoj 1956 ¼M½ 29 fMlsacj 1953 2

(2) egkjk"Vª jkT;kyk ___________ fd-eh- ykachpk leqnzfdukjk ykHkyk vkgs-
¼v½ 800 ¼c½ 720

¼d½ 750 ¼M½ 820 2

(3) egkjk"Vªkps {ks=QG ____________ pkS- fd-eh- vkgs-
¼v½ 3,07,713 ¼c½ 3,70,762

¼d½ 3,76,702 ¼M½ 3,06,762 2

(4) egkjk"Vªkrhy {ks=QGkP;k n`"Vhus lokZr eksBk ftYgk dks.krk \
¼v½ eaqcbZ 'kgj ¼c½ vgenuxj
¼d½ ukxiqj ¼M½ jk;xM 2

(5) egkjk"VªkP;k mijkt/kk.khps 'kgj _______ gs vkgs-
¼v½ eqacbZ ¼c½ ukxiqj
¼d½ iq.ks ¼M½ vkSjaxkckn 2

(6) lg;knzh ioZrjkaxsrhy lokZr map f'k[kj _________ gs vkgs-
¼v½ egkcGs'oj ¼c½ ekFksjku
¼d½ dGlqckbZ ¼M½ H;acds'oj 2

(7) egkjk"Vªkrhy lokZr yac unh __________ vkgs-
¼v½ xksnkojh ¼c½ Hkhek
¼d½ d̀".kk ¼M½ rkih 2

(8) egkjk"Vªkrhy {ks=QGkP;k n`"Vhus lokZr ygku ftYgk dks.krk \
¼v½ eqacbZ 'kgj ¼c½ vgenuxj
¼d½ HkaMkjk ¼M½ vejkorh 2
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2. egkjk"Vªkrhy yksdla[;k LFkkykarjkps izdkj lkaxwu yksdla[;sP;k LFkykarjkph dkj.ks lkaxk- 16

fdaok
egkjk"Vªkrhy ukxjhdj.kkph dkj.ks lkaxwu ukxjhdj.kkps ifj.kke lkaxk- 16

3. egkjk"VªkP;k 'ksrhph vYimRikndrsph dkj.ks lkaxwu mRiknu ok<hlkBh mik; lkaxk- 16

fdaok
gfjrØkarhps ;'k o vi;'k Li"V djk- 16

4. y?kqÙkjs fygk %
(v) egkjk"VªkP;k vkS|ksfxd fodklkph eq[; oSf'k"Vîs lkaxk- 4

(c) egkjk"Vªkrhy jsYos okgrqdhP;k leL;k lkaxk- 4

(d) y?kqm|ksxkaps egRo Li"V djk- 4

(M) jkT;krhy d`f"k&mRiknukoj vk/kkjhr m|ksxkaP;k leL;k fygk- 4

fdaok
(b) vFkZO;oLFksrhy y?kq m|ksxkaps egRo lkaxk- 4

(Q) egkjk"Vªkrhy tyokgrqdhP;k leL;k lkaxk- 4

(x) d`f"k&vk/kkjhr m|ksxkaps egRo Li"V djk- 4

(g) egkjk"Vªkrhy foeku okgrqdhP;k leL;k lkaxk- 4

5. y?kqÙkjs fygk %
(v) fonHkkZrhy 'ksrdÚ;kaP;k vkRegRrsph dkj.ks lkaxk- 4

(c) fonHkkZrhy vkS".khd mtkZ izdYikfo"k;h FkksMD;kr ekfgrh fygk- 4

(d) fonHkkZrhy izeq[k i;ZVu LFkGkaph ekfgrh fygk- 4

(M) fonHkkZrhy [kfut laiRrh ckcr ekfgrh |k- 4

fdaok
(b) fonHkkZrhy 'ksrdÚ;kaP;k vkRegRr;k jks[k.;klkBh mik; lkaxk- 4

(Q) i;ZVukps Qk;ns fygk- 4

(x) fonHkkZrhy flapukps òksr Li"V djk- 4

(g) fonHkkZph ,sfrgklhd ik'oZHkweh Li"V djk- 4
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AW–322

B.A. Part–I (Semester–II) Examination
(Optional Subjects)

ECONOMICS
(Economy of Maharashtra)

Time : Three Hours] [Maximum Marks : 80
¼fgUnh ek/;e½

lwpuk :— (1) lHkh iz'u vfuok;Z gSaA
(2) lHkh iz'uksa ds leku vad gSaA

1. fuEufyf[kr iz'uksa ds lgh fodYi pqfu, %
(1) egkjk"Vª jkT; dk fuekZ.k ___________ esa gqvkA

¼v½ 1 ebZ 1960 ¼c½ 1 ebZ 1961

¼d½ 1 uoEcj 1956 ¼M½ 29 fnlEcj 1953 2

(2) egkjk"Vª jkT; dks ___________ fd-eh- yackbZ dk leqn rVh; Hkkx izkIr gqvk gSA
¼v½ 800 ¼c½ 720

¼d½ 750 ¼M½ 820 2

(3) egkjk"Vª dk {ks=Qy ____________ pkS- fd-eh- gSA
¼v½ 3,07,713 ¼c½ 3,70,762

¼d½ 3,76,702 ¼M½ 3,06,762 2

(4) egkjk"Vª esa {ks= ds vuqlkj lcls cM+k ftyk gS %
¼v½ eaqcbZ 'kgj ¼c½ vgenuxj
¼d½ ukxiqj ¼M½ jk;xM+ 2

(5) egkjk"Vª ds mijkt/kkuh dk 'kgj _______ gSA
¼v½ eqacbZ ¼c½ ukxiqj
¼d½ iq.ks ¼M½ vkSjaxkckn 2

(6) lg;knzh ioZr?kkVh dk lcls m¡pk f'k[kj _________ gSA
¼v½ egkcys'oj ¼c½ ekFksjku
¼d½ dylqckbZ ¼M½ H;acds'oj 2

(7) egkjk"Vª esa lcls T;knk yackbZ okyh unh __________ gSA
¼v½ xksnkojh ¼c½ Hkhek
¼d½ d̀".kk ¼M½ rkih 2

(8) egkjk"Vª esa {ks= ds vuqlkj lcls NksVk ftyk gS %
¼v½ eqacbZ 'kgj ¼c½ vgenuxj
¼d½ HkaMkjk ¼M½ vejkorh 2
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2. egkjk"Vª esa tula[;k LFkkykarj.k ds izdkj crkdj tula[;k ds LFkykarj.k ds dkj.k crkb,A 16

vFkok
egkjk"Vª jkT; esa 'kgjhdj.k ds dkj.k crkdj 'kgjhdj.k ds ifj.kke crkb,A 16

3. egkjk"Vª jkT; esa d̀f"k dh fuEu mRikndrk ds dkj.k crkdj d̀f"k dh mRikndrk c<+kus ds mik; crkb,A 16

vFkok
gfjrØkafr lss izkIr ykHk vkSj gkfu;k¡ Li"V dhft,A 16

4. la{ksi esa mÙkj fyf[k, %
(v) egkjk"Vª ds vkS|ksfxd fodkl dh eq[; fo'ks"krk,a crkb,A 4

(c) egkjk"Vª esa jsyos ;krk;kr dh leL;k,a Li"V dhft,A 4

(d) y?kqm|ksx ds egRo Li"V dhft,A 4

(M) jkT; esa d`f"k&mRiknu ij vk/kkfjr m|ksxksa dh leL;k,a fyf[k,A 4

vFkok
(b) vFkZO;oLFkk esa y?kq m|ksxksa dk egRo Li"V dhft,A 4

(Q) egkjk"Vª esa ty ;krk;kr dh leL;k,a Li"V dhft,A 4

(x) d`f"k&vk/kkfjr m|ksxksa ds egRo Li"V dhft,A 4

(g) egkjk"Vª esa gokbZ ;krk;kr dh leL;k,a Li"V dhft,A 4

5. la{ksi esa mÙkj fyf[k, %
(v) fonHkZ ds fdlkuksa dh vkRegR;k ds dkj.k crkb,A 4

(c) fonHkZ ds rkih; ¼vkS".khd½ fo/kqr izdYi ds ckjs esa la{ksi esa tkudkjh nhft,A 4

(d) fonHkZ ds eq[; i;ZVu LFkyksa dh tkudkjh fyf[k,A 4

(M) fonHkZ dh [kfut laink ds ckjs esa laf{kIr fyf[k,A 4

vFkok
(b) fonHkZ ds fdlkuksa dh vkRegR;k fu;a=.k ds mik; crkb,A 4

(Q) i;ZVu ds ykHk crkb,A 4

(x) fonHkZ ds flapkbZ ds lalk/ku Li"V dhft,A 4

(g) fonHkZ dh ,sfrgkfld ik'oZHkweh Li"V dhft,A 4


